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Question 1- Find the wrong term 1n the following series.

99 1- TR @ § Terd 4e J1d shifiy
192, 191, 195, 168, 184(61

N A

IR ST
“ *Zl _ ) p)
3 +4 ~§$

6I"QS:.~ ve 30
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Question 2- Find the wrong term 1n the following series.

957 2- THIIRId J@T | 7TeTd 98 1 eIy

17, 38,70, 124, 21V, 245
L)) )

https://t.me/mathbytarunsirmepl
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245
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33
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Question 3- Find the wrong term 1n the following series.
9 3- HHIRId J@T | 7TeTd 98 1 ehllsIg)
1)5, 40, 75), 120, 175, 240

v )
+25 435 A. 15
™ 145 169 B. 40
|
P2 DT

30 —F. None of these
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Question 4- Find the wrong term 1n the following series.
T 4- THHIRIT J@AT | TTeTd 9 1 eI
4,5,7,11,19, 24

N AN
24 9 41 g;
'%{é?-gs C. 19
i D. 24
30 E. 11

https://t.me/mathbytarunsirmepl



}\ Question 5- Find the wrong term 1n the following series.

—

SIS\ +9 T 5- HHIRIT J@AT | 7TeTd 98 1 ehllsIg)
— T 1,9, -18, 46, -79,(132
| AN Q
= 3 B. 9
jj\\ﬂé S 5$ 6‘3) C. -18
D. -79
30 —E. 132
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Question 6- The ratio of the number of@ and-Beys 1n a school of 1050

students 1s 8 : 7. Some boys and 10 new girls are admitted to the school

which makes the ratio 13:10. Find the number of boys admitted to the
O

school . | C"ISP?) . m

T 6- 1050 BT o Teh Tohel H-oFStohd 1 3L TTSohi ohl HEAT T 31U 8: 7 2

FHD TGeh! S 10 S ASIRAT sh! Thel H T T ST & fSiee 1A 13: 10

21 ST 81 TRt § YolsT T aTe] AIen! ohi T J1 hiferdl N

70
80
90
60

None of these

30

RN
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5604 |3
O 84 @ F 7;50 4% +o o
B= fox8& mt |5
L= 4560 g, e
b= 49, 560@2 650
—k
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Question 7- A man spends 75% of his income. If his income increases by
20% and his expenditure also increase by 10%. The percentage of increase
in his savings 1s

5 7- Weh oA Tch STUHT 3T T 75% T hLdl gl TG ITeh! ST H 20% i J1g,
2 & ST 38k A H ol 10% 3hT Ig BIT &1 JEehT shard | Jhg, AT Tcwrd a1
37

100%
140%
112%
120%

—E. None of these
https://t.me/mathbytarunsirmepl
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@ o &’70 &if//*g,
[00 I5 25

107/ /Ho% TR-5
Ro fQtfg=  3Fs¢ ,0-5
&5 /= jgfxioo
= Soz
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Question 8- A dealer marks an article 50% above the cost price and sells it to
a customer allowing two successive discounts of 20% and 10% on the
marked price. if he gains Rs. 800 on the deal then the cost price of the article

1S

Ueh SICT Ueh o ol 36T & H 50% 3TTereh Jifohd ohtdT 8 3 3ifohd gea T
20% 3T 10% 3hT &1 SHANTT D ad §U ATEh hl siordT 2l Fla 3 Hia T 800 TR

T AT BT 8, Al 9 31 63 T T 27 A. Rs 1200
Dy _ J+§[‘ x4 23+ \ME B. Rs 1400
{K ] -287 {07y C. Rs 1000
A D. Rs 800

I =E. None of these

https://t.me/mathbytarunsirmepl
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Question 9- Ram and Shyam can do a piece of work 1n 36 days and 54 days
respectively. Shyam starts the work and Ram joined him after some days. The

total work 1s completed in 30 days from the beginning . After how many days

did Ram joined with Shyam?

T 9- TH 3T TATH Teh i ahl SHERT: 36 &1 3T 54 fe1 § o gehd 81 I W
ST AT & ST T F 161 oh 16 IHeh ©T MM 2T ST 81 el il T & 30
ﬁ?ﬁﬁw SIS Fm'_cﬁﬁ:ﬁch STe T W%Wa‘s’ﬂm‘? A. 12 days

Question 8- What approx fould com
mark (7) i the following ques

e B. 16 days
—C- 14 days
D. 18 days

E. None of these

https://t.me/mathbytarunsirmepl
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Question 10- A man travels equal distance with speed of 20 km/h, 24
km/h and 30 km/h respectively and takes a total time @ﬂin. What 1s

the total distance travel by him?
Ueh STk GHT &l ShAST: 20 ferefi/eier, 24 ferei/eiar 3 30 fereft/eier <t wifd

T AT & R HA 90 THAZ shl THY AT 81 36k G a3 3hi 715 el &y

I | T= £ A. 10km
& B. 12 km

J 30 C. 14 km

D. 16 km

—E. None of these

https://t.me/mathbytarunsirmepl
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The table given below shows the number of visitors in three places in

different months.

et &t 71 arferent farfy=T HEA1 & 1 ST 9 STRIeRT o ST ohi g &)

PLACES MARCH APRIL MAY

https://t.me/mathbytarunsirmepl
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Question 11- If the total number of visitors in June 1s 50% more than

the total visitors in month of March. Then find difference between the

visitors 1n June to the visitors in March and June together.

T 11- i< ST H SATdohT ohl et HGAT AT o HE - H 3T STChI shl ot

T 50% 3TT4eh 21 AT ST H HTIdehi ST AT S ST H ST o 1< ]

A F1a IS
A. 11800 PLACES |MARCH |APRIL |MAY
B. 31800 30 9800 4800
=)
=€ 21800 6400 4000
D. 23800

7000 4500

E. None of these

https://t.me/mathbytarunsirmepl
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Question 12- Find the total number of visitors in place B in April and
the visitors of place A in may.

T 12- YA H €A B H SWh! shl el AT I A H TAH A 3 ST
% Sl HEAT T ShifSTy)

= 640044000

—

17200 = 113 o PLACES | MARCH |APRIL |MAY
12200 —
13200 30
11200

None of these

Yoes
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m oo

200
100
300
400

None of these

Question 13- Number of visitors in April and May in B and C 1s how

much more or less total visitors in March.
T 13- B 3R C | 39 XA H SR ! G&AT A= H hed ST §
foraT 3Tferes T T 27

PLACES [ MARCH |APRIL MAY

https://t.me/mathbytarunsirmepl
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Question 14- What will come 1n the place of the question mark '?' in the

following question?

AefeiRad 929 5 9 g 12" o T 9 =T AT

Dﬂ” 8&64x46+64= 47
3
lf X X A. 9
[13 ) %l{: 1 B. 10
B (| {0 —. 11
H~ 42 Xz D. 12

———

— E. None of these

https://t.me/mathbytarunsirmepl



@ SBICLERK 2023 O

_—
Question 15- What will come 1n the place of the question mark '?' in the

following question?
TTRad I3 § 9 1o '2' o T I T ST
73 = 6144 - 4 — 807

X3= (936~ §oT A g
2= 99 B. 10
_ 30 C. 11
=3 D. 12
R E. None of these

https://t.me/mathbytarunsirmepl
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Question 16- What will come 1n place of question mark.

@ U4 16- 99 |d§. ow§u«| O ST JATA?
ﬁ@(} 13 x84 1A% 3127 15
2 A= 04429415
S~ Lﬂg A. 113
— B. 213
30) —==€. 413
D. 513
E. None of these

https://t.me/mathbytarunsirmepl
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Question 17- What will come 1n place of question mark.

T 17- 95 =g ok T 9T =T ST

104+ 130-50-80=7 x4

ha= 234156
U= [oy
JtQ{
— 30

https://t.me/mathbytarunsirmepl

W o 0w

26
16
36
46

None of these
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Question 18- What will come 1n place of question mark.
T4 18- 9% g o T W R ATE?

(15><16)-|—(510+17):?_|_é'§'g+/97

A+ = 2454 36
A. 149
t= Q%‘l/ B. 119
J= R4q 30 C. 139
— —D. 249

E. None of these

https://t.me/mathbytarunsirmepl
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Question 19- What will come 1n place of question mark.
T 19- 9% g o T W R ATEI?

(1.6><55)+(2§16/+M)=?+15

S SHPE @&‘fﬁ
11 /22‘159\
= oy 30

https://t.me/mathbytarunsirmepl
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101
106
97

107

None of these
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Question 20- A person invested 1n 2 schemes one at 10% per annum and another
at 20% per annum. After 3years, he gained Rs. 10800 as interest from both the
schemes. He invested a total of Rs. 24,000. Find the share of investment 1n first
scheme.

Ueh ofh 2 AISHTSAT H eI sl € Th 10% Sfer o 3R 6 20% Fi o shl 5T @
3 9{ o SfTQ, IH HT ARSI 8 STST o &9 H 10800 &Y JT6 §Y I el 24,000
T T AT FaeT s R I hisgl AL Rs 12,000

Rs 10,000

Rs 18,000

Rs 14,000

None of these

m o 0w
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